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The objective of this study is to compare model selection criteria for nested polynomial regression model. The general model for
polynomial regression is show as follows: Y=Xpte

where Y isan X1 random vector of dependent variables; X isan X (p+1) fixed matrix of independent variables; p isa (p+ L)l
unknown parametric vector of regression coefficients;  isan x 1 random vector of errorsand is normally distributed with mean
vector 0 and variance-covariance matrix a2l ; | isan X identity matrix ; a2 is the variance of random errors; is the number

of observed data and p is number of independent variables.

The 3 stopping criteria of model selection are the partial F-test statistic using backward elimination(BW), Akaike’s Information
Criterion(AIC), Bayesian Information Criterion(BIC) respectively. The BW method is started with putting all independent variables  the
model and then eliminating each variable ,one at a time, using the partial F-test statistic as the stopping criterion. The test statistic is as

follows:
- (SSE | —SSEK)/(pk - Pi) . | i |

F= STk SSEj is the sum of square errors for the model j., SSEK is the sum of
square errors for the model k, pkBj is the number of parameters  model j and k. The AIC criterion uses the maximum likelihood
method for each corresponding model as the stopping criterion. The test statistic is as follows:

AIC =-210g(MLk-M Lj) + 2(pk~Pj) ;MLLMLK is the maximum likelihood estimators form model j and k
PpPk is the number of parameters in model j and k The BIC criterion uses the posterior probability for each corresponding model
as the stopping criterion. The test statistic is as follows:

P(X|Pk,MK)

BIC=-2 log n.,p is the maximum likelinood estimator for model jand k Mj,Mk
p(XIp.M,) 7%

is the model jand k p(X IP ,Mk) is the posterior probability for the corresponding model. The compare is done by the model

generation using a monte carlo technique through S-plus 2000 code. The numder of independent variables is 3 5 9 14 20 and 27
respectively. The random error are generated with normal distribution with mean 0 and standard deviations 5 10 20 and 25
respectively. The number of observed data varies form 35 50 75 and 100. The degree of collinearity among independent variables is
changed from O(orthogonality among independent variables),0.5 to L Significant levels is 0.05 and 0.01. The average of mean square
error(AMSE) from each criterion .between the predicted value calculate from each selected model and the true values is use to
compare these 3 model selection criteria.

The result of the study show that when the independent variables are orthogonal, the predicted value from BIC criterion
provide the minimum average of mean square error(AMSE), all simulated cases. When independent variables are not orthogonal
and they are interrelated 1the nearly orthogonal situation can be done through data centering. This will result  making the AMSE for
the predicted value from BIC minimum  all situations. However the nearly orthogonalized independent variables for such case will be
appropriate only when the exponent of the between 1to 3. When the model exponent of the model is from 4 to 6, the polynomial
orthogonalization of the independent variables can be better achievable than the data centering and this will result in making the
AMSE for the because the AMSE of centering data is highest orthogonal polynomial, the predicted value from BIC minimum in all
cases as well,

Department  Statistics Student’s signature

Field of study  Statistics Advisor’s signature
Academic year 2000






L1 —————— 1
L —— 3
L e —— 4
L ——— 4
LS —————— 5
L ————— 6
LT ——— 8
8 L ———————————— 9
L e ———— 9
............................................................................................................... 1
21— 1
22— 13
221 ——— 13
222 X 15
23— 18
231 18
232 e 19

2321
.............................................................. 19

2322



2.4
2.9
2.6

3.1

3.2

3.3

41

4.2

5.1
5.2

2331



41

p(Xjx2)=0
42

0

(X, x2)
4.3

p(Xjx2)=0
44

0

(X, x2)
45

p(Xj.x2)=0
4.6

p(x15x2) =0
4.7

p(xpx2)=0
48

0

p(X,x2)
49

0

p(x,x2)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

M, a=005
(Centering).......vverevesrernn
M2 a=005
(Centering)....vevveessvvsssenes
M3 a=005
(11T A 11—
M4 a =005
(1111 LTA11o) F—
M5 a=005
(o111 T A1) ——
M6  a=005
(1L TTA 1) —
M, a=001
(Centering).......vvurvessrvrsne
M2 a=001
(Centering)......vwsrvrsrrssne
M3 a=001

(Centering)....oovvvesrvrsrenne



4.10

a=001 p(x,x2)=0
4.11

a=001 p(x,x2)=0
4.12

a=001 p(x,x2)=0
413

a=0.05p(x,,x2)=05
4.14

a =005 p(x,x2)=05
4.15

a =005 p(x,x2)=05
4.16

a =005 p(Xjx2)=05
4.17

a=005 p(Xj,x2)=05
418

a=005 p(x,x2)=05

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

M4

(Centering).......

M5

(Centering)........

M6

(Centering)........

M,

(Centering).......

M2

(Centering).......

M3
(Centering)

M4
(Centering)

M5

(Centering)....

M6

(Centering)....

59

59

b1

61



4.19

a=001p(x,x2)=05
4.20

a =001 p(x,x2)=05
4.21

a =001 p(x,x2)=05
4.22

a =001 p(x,,x2)=05
4.23

a =001 p(X},x2)=05
4.24

a =001 p(x,,x2)=05
4.25

a =0.05 p(Xj9X2) =1
4.26

a=005 p(x15x2) =1
4.27

a=005 p(x,x2) =1

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

M,
(Centering)....... 63

M?2
(Centering)...... 63

M3
(Centering) 65

M4
(Centering) 65

M5
(Centering).... 67

M6
(Centering).... 67

Mj
(Centering)......... 69
M2,
(Centering).......... 69
M3

(Centering)......... 11



4.28

a=005 p(xpx2)=I
4.29

a=005 p(x,x2)=I
4.30

a=005 p(x,x2)=1
431

a=00Lp(x,x2)=I
4,32

a =001 p(x,x2)=1
433

a =001 p(x,x2)=I
434

a =001 p(x,x2)=1
4.35

a =001 p(xIx2)=I
4.36

a =001 p(x,x2) =1

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

M4 .
(Centering)......... [

M5
(Centering)....... 13

M 6
(Centering)........ 13

M,
(Centering)......... 15

M?2
(Centering)........ 15

13
(Centering).......... 1

M4
(Centering)......... m

M5
(Centering)......... 19

M 6
(Centering)......... 79



437

a=005p(x,x2) =0

0Nl POIYNOMIAL).....vvsrvvrsrvvrsrivssrersressrssssssssssssssssssssssssssssssssssssssssressnnes

4.38

a=005p(X[x2)=0

ONAL POIYNOMIAL)....ovsvvvvvvvrsrvrrsrvrsrrrsssssssssssrssssssssssssssssssssssssssssssssssssss

4.39

a=0.05p(x,x2

0

0Nl POIYNOMIAL)..c..vvsrvvrsrvvsssvrssrvrsrssssrsssrssssssssssssssssssssssssssssssssssssssssssssssnes

4.40

a=005 p(x1;x2)=0

0Nl POIYNOMIAL)..c..vvvrvvvsrvvrsrivsssrrssressrssssrsssssssssssssssssssssssssssssssssssrssssnens

441

a=005 p(x,x2)=0

0Nl POIYNOMIAL).....ovrvvvrvvssrvrsrrrssrssssrsmssssssssssssssssssssssssssssssssssssssssssssssns

4.42

a =005 p(Xj,x2)=0

GONAL POIYNOMIAL)....ovvvvvrvvssrvrssrvrssrrnssrssssrssssmssssessssssrssssssssssssrsssrsssrsnns

4.43

a=001 p(x,x2)=0

ONAL POIYNOMIRI)....oocvvvrvrssrvrsssvrssrssssmsssssssssssssssssssssssssssssssssrssssssssssnes

)

62

62

84

84

86

86



444

a=001p(x,x2)=0

0Nl POIYNOMIAL)..vvvrvrrrvrssrvrsrvssrrssssssssssssrsssrsssrsssssssssssssssssssssrssssrssssnes

4.45

a=001p(xLx2)=0

0Nl POIYNOMIAL).c.vvvrvvrrvrsrvrssrrssrrsssrssssssssrssrsssssssssssssssssrsssrsssnns

4.46

a =001 p(x,x2)

0

gONAl POIYNOMIAL.cc.vvvsvvrsvvrsrvssrrssrrssrssssssrssrsssssssssssrsn

447

a=001 p(x,x2

0

0Nl POIYNOMIAL).....vvsrvvrrvvssrvvssrvnsrsssssssrsssssssssssssssssssssrssssssssssssssrssssnes

4.48

a=001 p(x,x2)=0

0Nl POIYNOMIAL).....vvsrvvrrvvssrvsssrssssrsssrssssrsssssssssssssssssssssssssssssssssssssssssnes

4.49

a=005p(x,,x2)=05

0Nl POIYNOMIAL).....vvvrvvrrvvrssrrssssrssresssrsssrssssrsssrsssssssssssssssssssssssssssssssrsses

4.50

a=005 p(x,x2)=05

0Nl POIYNOMIAL).....vvvrvvrsvvrsrvsssrrsssesssrssssrsssrsssrsssssssrssssssssssssssssssssssrsses

92

92

94



451
(AMSE) M3
a=005p(xBx2)=05 (Ortho
GONAL POIYNOMIRL....oocvvvvervvssrvnssrrsssrvsssssssessrssssrsssssssssssssrsssrssssssssssssssssens 96
452
(AMSE) M4
a=0.05 p(X],x2)=05 (Ortho
G0Nl POIYNOMIAL)....ovsovvvvvvrsvvrssrvrsssrsssrrsssrsssssssssssssssssrsssssssssssssssssssrsssnes 96
4.53
(AMSE) M5
a =005 p(X),x2)=05 (Ortho
0Nl POIYNOMIAL)....ovvvvvvvrrsrvrrsrvrmsssrssssssssssssrsssssssssssssssssssrsssssssssssssssssssess 98
4.54
(AMSE) M 6
a=005p(x,x2)=05 (Ortho
QONAL POIYNOMIRL....oosvvvvvvvssrvrssrvrssrrsssmssssessssssrssrsssssssesssrssssssssrsssssssees 98
4.55 L
(AMSE)
a=00Lp(x,x2)=05 (Ortho
QONAL POIYNOMIAN....ovvvvvvvrssvvrssrsnssnssssssssssssssssssssssrsssssssssssssssssssssssssssssees 100
4.56
(AMSE) M?2
a =001 p(x,x2)=05 (Ortho
GONAL POIYNOMIAL)....ovsvvvrvvvrrvrrsrvrssrrrsssrsssrsssmsssssssssssessssssssssssssssrssnnes 100
4.57
(AMSE) M3
a=001p(x,x2)=05 (Ortho

GONAL POIYNOMIAN)...ovcvvvvvvrssvrsssrvsssrsssssssssssssrsssrssssssssssssssssssssssssssssssssssnen 102



4.58
(AMSE) M4
a=001p(x,x2)=05 (Ortho
0Nl POIYNOMIAL).....vvrvvvsrvvsrerssrerssrssssrsssrsssssssssssssssssssssssssssrsssssssssssssssses 102
459
(AMSE) M5
x=001p(x,x2)=05 (Ortho
ONAL POIYNOMIAL).ovvvvvvvrrsvrssvrssvrssmsssrsssmssssssssmssssssssssrsssrssssssssrens 104
4.60
(AMSE) M 6
a=00Lp(x,x2)=05 (Ortho
gONAl POIYNOMIAL).cc.vvvsvvrvvrsrssrirssrirssrrrsssssssssssrssrssrsssrsssssssssssrses 104
461
(AMSE) M,
a=005p(x,x2) =1 (Ortho
gONAl POIYNOMIAL).cosvvvervrrvrsrvrsrrssmsssssssssssssssrssrsssssssrssnsens 106
4,62
(AMSE) M?2
a=005 p(x,x2)=1 (Ortho
0Nl POIYNOMIAL).....vvrvvservvssrvrssrrssrrmssssmsssssssssssrssssrssssssssssssssssssrssssrssnnes 106
4.63
(AMSE) 13
a =005 p(X[x2)=1 (Ortho
0Nl POIYNOMIAL).c. v vvrrvrsrvrssnrssrrssmsssssssssssssrssssssssssssssssssrssnnes 108
4.64
(AMSE) M4
a =005 p(X],X2)=1 (Ortho

ONAl POIYNOMIAL).c.vvvsrvrrrvvnrvrsrvssrsssssssssssssssrsssrssssssssssssssssrsssrssssnes 108



4.65

a=005 p(x,x2)=1I

0Nl POIYNOMIAL).c.rvvvrvvrvrsrvsssrvsssisssrissnssssrsssssssssssrssssssssrsssssssssssssseses

4.66

a =005 p(Xj,X2)—1

gONal POIYNOMIAD......oovvvssrvrssrrsssssssssssssssssrssssrssssmsssrsssssssssssssssssssssssssssssses

4.67

a=00Lp(x,x2)=I

0Nl POIYNOMIAL).....vvrvvrrvvvrersrersrssssnsssssssssssssssssssssssssssssssssssssssssssssssses

4.68

a =00l p(xIx2)=1

gONAl POIYNOMIAL).....ovsvvvrrvvsrvrssrvrssrssssrsssssssssssssssssssssssrsssssssssrsssssssssssnens

4.69

a =001 p(Xjx2)=|

0Nl POIYNOMIAL).....vvsrvvrrvvsssrvssrssssressrssssrsssssssssssssssssssssssrssssssssrsssssssssnes

4.70

a =001 p(x,x2)=I

0Nl POIYNOMIAL).....vvsrvvrrvvssrvrssrrsssrrsssssssssssssssssssssrssssssssssssssssssssssssssnssss

411

a =00l p(x,x2)=I

0Nl POIYNOMIAL.....vcvvvvvvvervrsrvrsssrrsssrsssrssssmsssesssessrssrsssrssssssrsssnen

110

112

112

114

114



472

a =001 p(x,x2)

gonal polynomial)

1
—
o
—
=

o



2.1
31
3.2
3.3
statistic)
34
(Akaike's Information Criterion)
35
(Bayesian Information Criterion)
41

a=005p(x,x2)=0
4.2

a =005 p(x1x2)=0
43

a=0.05p<Xj,x2) =0
4.4

a=005 p(xIx2)=0
45

a=005p(x,,x2)=0
4.6

a=005p(xLx2)=0

(Occam’s window)

(The partial F-test

(Backward Elimination)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

M}
(Centering)......

M2
(Centering)......

M3
(Centering)......

M4
(Centering)......

M5
(Centering).......

M 6
(Centering).......

21

33
36

38

39

40

46

46

48

48

50



4.1
1
a=00Lp(x,x2=0
48
1
a=001p(x,x2)=0
4.9

a=001p(x,x2)=0
4.10

a=001 p(x,x2)=0
4.11

a=001 p(x,x2)=0
4.12

a=001 p(xIx2)=0
4.13

a=005p(x,x2)=05
4.14

a =005 p(Xjx2)=05
4.15

a =005 p(Xjx2)=05

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

M,
(Centering)........

M?2
(Centering)...

M3
(Centering).......

M4

(Centering).........

M5

(Centering)........

M6

(Centering).........

M,

(Centering)......

M2

(Centering).......

M3
(Centering)

52

52

o4

o4

56

56

58

58

60



4.16

a=005 p(xLx2)=05
4.17

a=005 p(xpx2)=05
418

a=005 p(x,x2)=05
4.19

a=001p(x,x2)=05
4.20

a =001 p(x,x2)=05
4.21

a =001 p(x,,x2)=05
4.22

a =001 p(x,x2)=05
4.23

a =001 p(X}x2)=05
4.24

a =001 p(x,x2)=05

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

M4
(Centering)

M5

(Centering)....

M6

(Centering)....

M,

(Centering)...

M?2

(Centering)...

M3

(Centering)...

M4

(Centering)...

M5

(Centering)...

M6

(Centering)...

60

62

62

64

64

66

66

68

68



4.25

a=005p(xx2) =1
4.26

a=005 p(x,x2)=I
4.27

a=005 p(x,x2)=I
4.28

a =005 p(x,x2)=I
4.29

a=005 p(x,x2)=I
4.30

a=005 p(x,x2)=
431

a=00Lp(x,x2)=I
4,32

a =001 p(x,x2)=I
4.33

a =001 p(Xjx2)=|

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

(AMSE)

M,
(Centering)...... 10

M?2
(Centering)....... 10

M3
(Centering)..... 12

M4
(Centering).......... 12

M5
(Centering)........ 14

M6
(Centering)......... 14
M,
(Centering).......... 16
M?2
(Centering)......... 16
M3

(Centering).......... 18



4.34

a =001 p(Xjx2)=
435

a =000 pxLx2)=1
4.36

a =001 p(xBx2)=!
437

a=005p(xpx2)=0

(AMSE)

(AMSE)

(AMSE)

M4
(Centering)........

M5
(Centering).........

M 6
(Centering).........

M;

0Nl POIYNOMIAL).c..vvvrvvssrvrssrvrsrssssssssrssssrsssssssssssssssssssssssssssssrsssrsssnnes

4.38

a=005p(x,x2)=0

gONAl POIYNOMIAL).cc.vvvvvvvrvvrsrvrssvrsrsrssrsssrssssssssssssssrsssrsssrsssssssssssssnnes

4.39

a=005p(x,x2)=0

0Nl POIYNOMIAL)..c..vvsrvvvsrvvrssrvssrenssressrsssrsssrsssssssssssssssssssssssssssssssssrssssnes

4.40

a=005 p(x,x2)=0

0Nl POIYNOMIAL).....vvsrvvvrvvssrerssrvnssressrssssrssssmssssssssssssssssssssssssssssssssssssssnes

441

a=005 p(xLx2)=0

ONAL POIYNOMIAL).....vvrvvrrvvsrevssrvrssrssssnsssrsssssssssssssssssssssssssssrssssssssssssssesns

83

83

85

85



4.42

a =005 p(Xjx2)=0

ONAI POIYNOMIBO...vvvvvvvvvvvrssrssrsrsssssssssssssssssssssssssssssssssssssssssssssssssssssssssssnes

4.43

a =001 p(X[x2)=0

GONAIPOIYNOMIAL).....vvsrvvrrrvvrssrvsssrssssesssesssssrsssssssrsssssssssssssssssssssssssrsssnes

444

a=001p(x,x2)=0

0Nl POIYNOMIAL).....vvsrvvvsvvrsrvrssrvsssrssssrssssssssssssssssssssssssssssssrssssrssssrsssssssssnes

445

a=001p(xpx2)=0

ONAL POIYNOMIRL)....oocvvrrvvssrvrssrvrssrrsssmsssssssssssrsssrssssrssssssssssssrssssssssrsnss

4.46

0

a =001 p(x,x2)

GONAL POIYNOMIRL.....ovvvvrvvssrvrssrvrssrssssrssssssssessrsssrsssrssssssssrsssrssssssssrsnes

447

a=001 p(xIx2)=0

ONAL POIYNOMIRL)....oovvvvrvvssrvrssrvrssrrsssmsssssssrsssrsssrsssssssssssssssrssssssssrsnes

448

a =001 p(xt,x2)=0

GONAL POIYNOMIRN....ovvvvsrvvrrvvsssvrsresssvssssssrssssrsssssssssssssrsssrsssssssssssssses

91

91

93



4.49
(AMSE) Mt
a=005p(Xjx2)=05 (Ortho
ONAl POIYNOMIAL).c.vvvsrvrrrivssrirssrvsssrsssmnssrssssssssrsrssrs e 95
450
(AMSE) M?2
a=005 p(x,,x2)=05 (Ortho
0Nl POIYNOMIAL).cc.vvvsrvvrvvrsrivssrvrssrsssrssssssssssssssrsssrsssrssssrsssssssssssssrsses 95
451
(AMSE) M3
a =0.05 P(X!X2)=0.5 (Ortho
0Nl POIYNOMIAL).c.vvvvrvrssrvrsrvsssnssssssssssssssssssssssssssssssssssssssssssssssssssssssssses 97
452
(AMSE) M4
a=005p(x,,x2)=05 (Ortho
0Nl POIYNOMIAL).c.vvvsrvvrrvvssrcvssrvrssrvssrsssssssssssrsssrsssrsssrsssssssssssssssssrsses 97
4.53
(AMSE) M5
d=005p(x,x2)=05 (Ortho
gONAl POIYNOMIAL).ccrvvvervvvsvrrsrrvssirsscrsessnessrsssrsssssssssrsrsssrssnnes 99
4.54
(AMSE) M6
a=005p(xpx2)=05 (Ortho
0Nl POIYNOMIAL)..vvvrvrsrvrsrvrssrsrssrssssssssssssssssssssssssssssssssssssssssssssssssssssns 99
4.55 !
(AMSE) M,
a =001 p(Xjx2)=05 (Ortho

0Nl POIYNOMIAL).....vvvrrvrsrvrssrvsssrrsssssssressssssssssrsssssssrssssssssssssssssssrssssrsses 101



4.56
(AMSE) M?2
a =001 p(xpx2)=05 (Ortho
ONAL POIYNOMIAL).ccvvvvrvvrsrvvrvvnsrirsrsssrssssssssssssssrsssrsssrssssrssssssssssssrsses 101
4.57
(AMSE) M3
a=00Lp(x,x2)=05 (Ortho
GONAL POIYNOMIAL)....ovvvvrvvvrsvvvssvrsssrrsssrssssssssssssssssssssssssssrsssssssssssssssssssssnes 103
4.58
(AMSE) M4
a=001p(x,x2)=05 (Ortho
0Nl POIYNOMIAL).....vvrvvrrvvssrerssrvsssrssssmssssssmssssssssssssssssssssssssssssssssssssssssssses 103
4.59
(AMSE) M5
a=001p(Xjx2)=05 (Ortho
GONAL POIYNOMIRL)....oocrvvvervrssrvrssrrnssrrsssmsssrsssrsssrssssssssssssssssrssssssssssssssssens 105
4.60
(AMSE) M6
a=00Lp(x,x2)=05 (Ortho
0Nl POIYNOMIR)....ovcvvvvvvrrsrvrsssvrsssrrssrssssssssssssssssssssssssssssssrsssssssssssrsssees 105
4.61
(AMSE) M,
a=005p(x,x2) =1 (Ortho
0Nl POIYNOMIAL)....ovsvvvvvvvrrvvnsrsrssrvrsssssssssssrssssrsssssssssmssssssssssssrsssssssnnes 107
4,62
(AMSE) M?2
a=005 p(x,x2) =1 (Ortho

GONAL POIYNOMIAN. ..o vvvrvrsrvrsrvrssrssssssssssssssssssrsssssssssssssssssssssssssssssssrsnes 107



4.63
(AMSE) M3
a=005 p(x,x2) =1 (Ortho
0Nl POIYNOMIAL).....vvsrvvrrevrsrerssressresssrssssrssssssssssssssssssssssssssssssssrsssssssssnes 109
4.64
(AMSE) M4
a=005 p(x,x2)=I (Ortho
0Nl POIYNOMIAL).....vvsrvvrsrvvrsrvrssrssssrvssrssssrssssmsssssssssssssssssssssssssssrsssssssssnens 109
4.65
(AMSE) M5
a=005 p(X},x2)=1 (Ortho
0Nl POIYNOMIAI....vvcvvvrcvrrrrrsssrssssssssssss s 111
4.66
(AMSE) M6
a=005 p(x,x2)=1 (Ortho
0Nl POIYNOMIAN).....vvcvvvrsvvrsrsrsssrrsssrssssssssssssssssssssssrssssssssssssssssssssses 111
4.67
(AMSE) M,
a=001p(x,x2)=I (Ortho
0Nl POIYNOMIAL).....vvsrvvrrvvrrvrssrssssrssssrsssrssssssssssssssssssssssssssssssssssssssssssrsess 113
4.68
(AMSE) M?2
a =001 p(x,x2)=1 (Ortho
0Nl POIYNOMIAL).....ovrvvsrvvsrersrrsssrrsssrsmssssssrssssssssssssssssssssssssrsssssssssssnnes 113
4.69
(AMSE) M3 =
a =001 p(x,x2)=1 (Ortho

0Nl POIYNOMIAL).cc..vsvvvsrvvrrvrsrvrsrvssssmsnssssssssesssrssssrssssrsssssssssssssrssssrssnes 115



4.70

a =001 p(xLX2)=1

0Nl POIYNOMIAL).....vvsrvvesrvvssrvrssrrmsssrmsssssssssssrsssssssssmsssssssssrssssssssrsssssssnssess

471

a =001 p(x,x2

0Nl POIYNOMIAL)....ovcrvvvrvvrsrvrsrvrsssrrssrssssmssssmsssssssssssssssrsssrsssssssrsssnen

4.72

a=001 p(x,x2)

G0Nl POIYNOMIAL)....ovsvvvvrvvssvvrsssvrssrrsssrssssmsssssssssssssssrsssssssssssrsssrsssrsnes

115

117



	ปกภาษาไทย


	ปกภาษาอังกฤษ


	หน้าอนุมัติ


	บทคัดย่อภาษาไทย


	บทคัดย่อภาษาอังกฤษ


	กิตติกรรมประกาศ


	สารบัญ

